vi
[ > restart:
f:=T->(1+exp(-1/T))/(1-exp(-1/T));
evalf(f(2));
1
T+e |
f=T— T
T-e |
4082988166 (1.1)
B diff(sin(x)*3*cos(x)"6,x);
3sin(x)2cos(x)7—6sin(x)4cos(x)5 (1.2)

B int(1/(x*sqrt(x*2-1)),x=1..infinity);
1
é T
B plot3d([3*x-2*y-2,x+y*2+4],x=-10..10,y=-10..10,color=[green,red]);

(1.3)

v2

[ > restart:
fi=x->a*x*2+b*x+c;
fi=x—ax’+bx+c (2.1)
> eql:=(f(1)=2,
f(-3)=4,f(-1)=1};
eql ::{a+b+c:2,9a—3b+c:4,a—b+c:1} (2.2)

v3

> solve(eql,{a,b,c});
1 1
[CZ],bZZ,BZZ] (23)

:> restart;

fi=x->4*x*2-3*x+1;

fr=x—4x2-3x+1 (2.4)

> a:=unapply (diff(f(x),x),X);

x0:=2/3;

a:=x—8x-3

2
3
B plot([f(x),a(x0)*(x-x0)+f(x0)],x=-1..2,y=-2..5);

X0 := (2.5)

[> restart;with(LinearAlgebra):
A:=Matrix(2,2,[[a,3],[4.,b]]);

a3
4 b

A= 3.1)

(B8 2x-y-2 =0 LOREBATRAERNTEDT.
> X:=Vector([t,2*t-2]);

t

= o042

TAIC & > TEBRINIHDE(KY) I,



> (A.X);

> Eq1:=3*(A.X)[1]-4*(A.X)[2]+10=0;

[tcoWTEET L,
> collect(Eq1,t);

> Eq2:={coeff(lhs(Eq1),t,1)=0,
coeff(lhs(Eq1),t,0)=0};

TablcDWTHRL< .
> solve(Eq2,{a,b});

4
[> N:=100:
A:=Array(1..N,0):

> for i from 2 to N do
for j from 2 to N do

end do;

end do;

[ > for i from 2 to N do

if (A[i1=0) then print(i); end if;
end do:

73
79
83
89
97

at+6t-6
4t+b (2t—2)

[ DENER 3x-4y+10=0 LIcH BN 5, KDL, (Xy)ERAT S,

Eql=3at+2t-8-4b (2t—2) =0

(3 a+278b) t-8+8b=0
[enAIc &S TIEMIT B/coicld, EERTRINERSHEL. 100, TROFHKEROHT,

Eg2:= {3a+2—8b=0,—8+8b=0}

{b:],a=2}

if i*j<=N then A[i*j]:=1; else break; end if;

(3.3)

(4.1)

v5

[ > restart;
f:=Array(1..20):
f[11:=1;
f[2]:=1;

> for i from 3 to 20 do
flil:=f[i-11+f[i-2];
end do:
f[20];
6765

(5.1)

(5.2)



